Chapter17HW

Answer Section
SHORT ANSWER

1.
ANS:


Individual profits can be increased at the expense of group profits if individuals cheat on the cartel's cooperative agreement.

2.
ANS:


Output effect: Price > Marginal cost => increased output will add to profit

Price effect: increased quantity is sold at a lower price => lower revenue (profit?)

An oligopolist must take into account how the output and price effects will be influenced by competitors' production decisions, or it must assume competitors' production will not change in response to its own actions.

3.
ANS:


The answer should present two strategies for each company, such as “Expand” and “Don’t Expand.” To be a prisoner’s dilemma, each firm needs a dominant strategy, but each firm choosing its dominant strategy results in an outcome that is jointly worse than if they both chose their other strategy. A possible payoff table with payoffs (Ford, GM) is

	
	
	GM

	
	
	Expand
	Don’t Expand

	Ford
	Expand
	(2, 2)
	(4, 1)

	
	Don’t Expand
	(1, 4)
	(3, 3)


